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Binomische Formeln - Losung:

(
(6—e)(6+e)=36—¢"
(a+2y)(a—2y) =a’ -4y’
(

(

f) (143b6)(1-3b)=1-95

9) (3a—7b)(3a+7b)=9a> —49b’

h) (2-0.1¢)" =4—-0,4¢+0,01¢>

i) (1,4a—4b)’ =1,964> —11,2ab+16b

i) (0.5a+3y)" =0,254> +3ay +9 y*

K) (1,2a+0,6d)" =1,44a> +1,44ad +0,36d’
) (1,1d - 0,7¢)’ =1,21d* —1,54de +0,49¢

. a) d*-22d+121=(d -11)’

b) 25-10a+a*>=(5-a)’

c) 36x*—49=(6x+7)(6x-7)

d) d>+12def +36¢>f* =(d +6ef )’

e) 0,36a”—0,49b* =(0,6a+0,7b)(0,6a—0,7b)
f) 0,096>-0,6b+1=(0,3b—-1)’

g) 0,64 f2—¢’>=(0,8f+¢)(0,8 f—¢)

h) 164> +8ab+b* =(4a+b)’

) 1-2x"y+x*y? =(1—xzy)2

) 0,255 +x+1=(0,5x+1)’

k) 0,81¢*>-0,16d*> =(0,9¢+0,4d)(0,9c—0,4d)
) 364> +24ab® +4b* = (6a+2b)’

) =+ 2¢d +d?
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a -2) =a’-4a+ 4

( a
c) (5- a )( 5 +a)=25-4°
( 2

2a +9c)2: 4a*> +36ac+81c?




